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Question Number : 1 Question Id : 2549896310 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a system software?

Options :

1.  Word processing software

2.  Web browsers

3.  Operating system

4.  Spreadsheet software

   

Question Number : 1 Question Id : 2549896310 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏनिलिखत मƶ से कौन-सा एक िस×टम सॉÌटवेयर है?

Options :

1.  वडµ Ēोसिेसɞग सॉòटवेयर

2.  वेब Ĕाउ_सµ

3.  ऑपरेिटɞग िस×टम

4.  ×Ēडैशीट सॉòटवेयर

   



Question Number : 2 Question Id : 2549896795 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following converts a code written in high-level programming language to low-level 

programming language.

Options :

1.  Compiler

2.  Utilities

3.  Device drivers

4.  Operating system

   

Question Number : 2 Question Id : 2549896795 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏन मƶ से कौन उ¼च-×तरीय ĒोĀािमɞग भाषा मƶ िलखे गए कोड को िनÏन-×तरीय ĒोĀािमɞग भाषा मƶ पिरवितɞत करता है।

Options :

1.  कÏपाइलर

2.  यूिटिलटीज

3.  िडवाइस Ċाइवसµ

4.  ऑपरेिटɞग िस×टÏस

   

Question Number : 3 Question Id : 2549897121 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a toggle key?

Options :

1.  Esc



2.  Delete

3.  Caps Lock

4.  Enter

   

Question Number : 3 Question Id : 2549897121 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏनिलिखत मƶ से कौन-सी एक टॉगल कुंजी है?

Options :

1.  Esc 

2.  Delete (िडलीट)

3.  Caps Lock (कैËस लॉक)

4.  Enter (एटंर)

   

Question Number : 4 Question Id : 2549897328 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Unix, all the directories are organised into a:

Options :

1.  folder

2.  file

3.  root

4.  file system

   

Question Number : 4 Question Id : 2549897328 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



यूिन·स (UNIX) मƶ सभी डायर·ेटरी _______ मƶ ȅवि×थत (organised) होती हƹ।

Options :

1.  bोÒडर

2.  bाइल

3.  ƞट

4.  फाइल िस×टम

   

Question Number : 5 Question Id : 2549897592 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the period of the fourth generation of computers?

Options :

1.  1946-1959

2.  1959-1965

3.  1965-1971

4.  1971-1980

   

Question Number : 5 Question Id : 2549897592 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏनिलिखत मƶ से कौन-सा चौथी पीaी के कंËयटूरǂ का काल (period) है?

Options :

1.  1946-1959

2.  1959-1965

3.  1965-1971

4.  1971-1980

   

Question Number : 6 Question Id : 2549897695 Question Type : MCQ Option Shuffling : Yes 



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a computer keyboard, the Num Lock key belongs to which of the following categories of keys?

Options :

1.  Function keys

2.  Control keys

3.  Toggle keys

4.  Numeric key pad

   

Question Number : 6 Question Id : 2549897695 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

कंËयटूर कीबोडµ मƶ, नम लॉक (Num lock) कंुजी िनÏनिलिखत मƶ से िकस Ĝेणी की कंुजी से संबंिधत है?

Options :

1.  फं·शन कुंजी

2.  कंĈोल कुंजी

3.  टॉगल  कुंजी

4.  Êयमेूिरक की पैड

   

Question Number : 7 Question Id : 2549898878 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A '______' utility copies or backs up the selected files or an entire hard drive onto another disk or 

tape.

Options :

1.  disk cleanup

2.  backup



3.  file

4.  diagnostic

   

Question Number : 7 Question Id : 2549898878 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

एक '______' उपयोिगता (यिूटिलटी) िकसी अÊय िड×क या टेप पर चयिनत bाइलǂ या संपूणµ हाडµ Ċाइव को कॉपी करती है या बैकअप 
लेती है।

Options :

1.  िड×क ·लीनअप

2.  बैकअप

3.  bाइल

4.  डाय¹नोि×टक

   

Question Number : 8 Question Id : 25498912979 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following commands is used to open the Device Manager in Windows 8?

Options :

1.  Wuapp.msc

2.  hdwwiz.cpl

3.  devmgmt.msc

4.  devicemngr

   

Question Number : 8 Question Id : 25498912979 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Windows 8 मƶ िडवाइस मैनेजर खोलने के िलए िकस कमांड का उपयोग िकया जाता है?

Options :

1.  Wuapp.msc

2.  hdwwiz.cpl

3.  devmgmt.msc

4.  devicemngr

   

Question Number : 9 Question Id : 25498929965 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

______ is a proven popular mechanism to establish accessible records of the employees' work 

hours at workplaces.

Options :

1.  Biometrics System

2.  Audiometric System

3.  Check the desk

4.  Call every employee 

   

Question Number : 9 Question Id : 25498929965 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

______, कायµ×थल पर िकसी कमµचारी ने िकतने घंटे काम िकया है, इसका सुलभ िरकॉडµ (accessible records) ×थािपत करने के 
िलए एक िसǽ लोकिĒय मैकेिन¾म है।

Options :

1.  बॉयोमेिĈ·स Ēणाली

2.  ऑिडयोमेिĈक Ēणाली

3.  डे×क की जाँच करƶ

4.  ĒÆयके कमµचारी को कॉल करƶ



   

Question Number : 10 Question Id : 25498930217 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What refers to the distance between two data tracks on an optical disc?

Options :

1.  Pits

2.  Length

3.  Wavelength

4.  Track pitch

   

Question Number : 10 Question Id : 25498930217 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ऑिËटकल िड×क पर दो डेटा Ĉैक के बीच की Ơरी को ·या कहते हƹ?

Options :

1.  िपट

2.  लंबाई

3.  वेवलƶथ (तरंगदैÉयµ)

4.  Ĉैक िपच

   

Question Number : 11 Question Id : 25498930713 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements with reference to blogging is/are true? 

 

(i) The word blog is actually a shortened form of its original name, Web Log. 

(ii) Blogs never allow readers to comment.



Options :

1.  (i)-True, (ii)-True

2.  (i)-True, (ii)-False

3.  (i)-False, (ii)-True

4.  (i)-False, (ii)-False

   

Question Number : 11 Question Id : 25498930713 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Íलॉिगɞग के संदभµ मƶ िनÏनिलिखत मƶ से कौन-सा/से कथन सÆय है/हƹ? 

 

(i) Íलॉग शÍद वा×तव मƶ अपने मूल नाम वेबलॉग का सिं³Ëत ƞप है। 
(ii) Íलॉग पाठकǂ को कभी भी िटËपणी करने की अनुमित नहƭ देते हƹ।

Options :

1.  (i)-सÆय, (ii)-सÆय

2.  (i)-सÆय, (ii)-असÆय

3.  (i)-असÆय, (ii)-सÆय

4.  (i)-असÆय, (ii)-असÆय

   

Question Number : 12 Question Id : 25498930961 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the appropriate shortcut to Zoom-in while navigating between cells in 

MS-Excel 2019?

Options :

1.  Ctrl+Alt+Minus sign ( - )

2.  Esc

3.  Ctrl+M



4.  Ctrl+Alt+Equal sign ( = )

   

Question Number : 12 Question Id : 25498930961 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 मƶ सेल के बीच नेिवगेट करते समय _ूम-इन करने का उपयǣु शॉटµकट िनÏन मƶ से कौन सा है?

Options :

1.  Ctrl+Alt+Minus sign ( - )

2.  Esc

3.  Ctrl+M

4.  Ctrl+Alt+Equal sign ( = )

   

Question Number : 13 Question Id : 25498933231 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the minimum number of bits required to encode the decimal numbers from 0 to 9999 in 

binary codes?

Options :

1.  14

2.  8

3.  32

4.  64

   

Question Number : 13 Question Id : 25498933231 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0 से 9999 तक डेिसमल सं¸याǓ को बाइनरी कोड मƶ एनकोड करने के िलए आवÕयक िबट्स की Êयनूतम सं̧ या ·या है?



Options :

1.  14

2.  8

3.  32

4.  64

   

Question Number : 14 Question Id : 25498933729 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.  64

2.  160

3.  1600

4.  32

   

Question Number : 14 Question Id : 25498933729 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.  64

2.  160

3.  1600

4.  32

   



Question Number : 15 Question Id : 25498933820 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A VGA feature connector is a point-to-point channel used to:

Options :

1.  connect other expansion cards to transfer data to CPU only

2.  connect other expansion cards to transfer data to GPU only

3.  transfer video signals between two video controllers

4.  connect other expansion cards to transfer data to screen only

   

Question Number : 15 Question Id : 25498933820 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

एक वीजीए (VGA) फीचर कने·टर एक पॉइंट-टू-पॉइंट चैनल है, िजसका उपयोग िकस िलए िकया जाता है?

Options :

1.  केवल सीपीयू (CPU) मƶ डेटा Ĉांसफर करने हेतु अÊय ए·सपƹसन काडµ कने·ट करने के िलए

2.  केवल जीपीयू (GPU) मƶ डेटा Ĉांसफर करने हेतु अÊय ए·सपƹसन काडµ कने·ट करने के िलए

3.  दो वीिडयो कंĈोलसµ के बीच वीिडयो िस¹नलǂ को ×थानांतिरत करने के िलए

4.  केवल ×þीन पर डेटा Ĉांसफर करने हेतु अÊय ए·सपƹसन काडµ कने·ट करने के िलए

   

Question Number : 16 Question Id : 2549896403 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The ______ is called a network of networks because it is a global network of computers that are 

linked together by cables and telephone lines making communication possible among them.

Options :

1.  LAN



2.  PAN

3.  MAN

4.  Internet

   

Question Number : 16 Question Id : 2549896403 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

________ को नेटवकǃ का नेटवकµ  कहा जाता है ·यǂिक यह कंËयूटरǂ का एक विैȈक नेटवकµ  है जो केबल और टेलीफोन लाइनǂ Ǽारा 
आपस मƶ जु`ा होता है िजससे उनके बीच संचार संभव हो जाता है।

Options :

1.  LAN

2.  PAN

3.  MAN

4.  एक इंटरनेट

   

Question Number : 17 Question Id : 2549898367 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The intersection of a column and a row in MS Excel worksheet is known as

Options :

1.  name

2.  sheet

3.  cell

4.  formula

   

Question Number : 17 Question Id : 2549898367 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

MS Excel  वकµ शीट मƶ एक कॉलम और एक रो के Ēित¼छेदन को ______ के ƞप मƶ जाना जाता है।

Options :

1.  नाम (नेम)

2.  शीट

3.  सेल

4.  सूč (फोÏयुµला)

   

Question Number : 18 Question Id : 2549898560 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which file format is used to save Microsoft Excel Open XML macro enabled workbook?

Options :

1.  .oxmlw

2.  .xlmew

3.  .xmew

4.  .xlsm

   

Question Number : 18 Question Id : 2549898560 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Microsoft Excel Open XML मैþो स³म वकµ बुक को सहेजने के िलए कौन से bाइल फॉमƷट का उपयोग िकया जाता है?

Options :

1.  .oxmlw

2.  .xlmew

3.  .xmew

4.  .xlsm

   



Question Number : 19 Question Id : 2549898891 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One byte contains how many bits?

Options :

1.  8

2.  16

3.  4

4.  2

   

Question Number : 19 Question Id : 2549898891 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

एक बाइट मƶ िकतने िबट होते हƹ?

Options :

1.  8

2.  16

3.  4

4.  2

   

Question Number : 20 Question Id : 2549899428 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How does the Collate option in printer help?

Options :

1.  Your printer can print any number of copies.

2.  Your printer can keep pages together when multiple copies of the document are printed.

3.  Your printer prints only odd pages.



4.  Your printer prints only even pages.

   

Question Number : 20 Question Id : 2549899428 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िĒɞटर मƶ कोलेट (collate) िवकÒप कैसे मदद करता है?

Options :

1.  आपका िĒɞटर िकतनी भी Ēित िĒɞट कर सकता है।

2.  द×तावे_ (डॉ·यमुƶट्स) की एक से अिधक Ēितयां िĒɞट होने पर आपका िĒɞटर पȎृǂ को एक साथ रख सकता है।

3.  आपका िĒɞटर केवल िवषम पृȎǂ को िĒɞट करता है।

4.  आपका िĒɞटर केवल सम पृȎǂ को िĒɞट करता है।

   

Question Number : 21 Question Id : 25498910854 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a computer output device?

Options :

1.  Joystick

2.  Mouse

3.  Printer

4.  Keyboard

   

Question Number : 21 Question Id : 25498910854 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

कंËयटूर के िलए िनÏन मƶ से कौन सा आउटपुट िडवाइस है?

Options :



1.  जॉइि×टक

2.  माउस

3.  िĒɞटर

4.  कीबोडµ

   

Question Number : 22 Question Id : 25498913385 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the full form of 'FPS' in terms of image compression?

Options :

1.  Frames Per Second

2.  Files Per Second

3.  Functions Per Second

4.  Facts Per Second

   

Question Number : 22 Question Id : 25498913385 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

छिव संपीडन के संदभµ मƶ 'FPS' का पूणµ Ēपč ·या है?

Options :

1.  ēेÏस पर सेकंड (Frames Per Second)

2.  फाइÒस पर सेकंड (Files Per Second)

3.  फं·शन पर सेकंड (Functions Per Second)

4.  फै·ट्स पर सेकंड (Facts Per Second)

   

Question Number : 23 Question Id : 25498913387 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

There is/are ______ type(s) of basic data redundancies in digital image compression.

Options :

1.  one

2.  two

3.  three

4.  four

   

Question Number : 23 Question Id : 25498913387 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िडिजटल इमेज संपी`न मƶ बुिनयादी डेटा अितरेक (basic data redundancies) के ______ Ēकार होते हƹ/हƹ।

Options :

1.  एक

2.  दो

3.  तीन

4.  चार

   

Question Number : 24 Question Id : 25498913781 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the cryptographic algorithm is known as AES-256. What does the number 256 indicate?

Options :

1.  Key size of 256 MB

2.  Key size of 256 bits

3.  Key size of 256 bytes

4.  Key size of 256 KB

   



Question Number : 24 Question Id : 25498913781 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िþËटोĀािफक एÒगोिरदम मƶ से एक को AES-256 के ƞप मƶ जाना जाता है। 256 सं̧ या ·या दशाµती है?

Options :

1.  256 MB कुंजी आमाप

2.  256 िबट्स कंुजी आमाप

3.  256 बाइट्स कंुजी आमाप

4.  256 KB कुंजी आमाप

   

Question Number : 25 Question Id : 25498913909 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which IPv4 addresses are kept reserved for multicasting?

Options :

1.  128.1.0.1 to 191.255.255.254

2.  192.0.1.1 to 223.255.254.254

3.  224.0.0.0 to 239.255.255.255

4.  240.0.0.0 to 254.255.255.254

   

Question Number : 25 Question Id : 25498913909 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

मÒटीकाि×टंग के िलए कौन से IPv4 एĊेस आरि³त रखे गए हƹ?

Options :

1.  128.1.0.1 से 191.255.255.254

2.  192.0.1.1 से 223.255.254.254



3.  224.0.0.0 से 239.255.255.255

4.  240.0.0.0 से 254.255.255.254

   

Question Number : 26 Question Id : 25498918424 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

______ is a software for building applications that combines common developer tools into a single 

graphical user interface.

Options :

1.  International Design Engine

2.  Indian Development Ecosystem

3.  Integrated Development Environment

4.  Integrated Design Engine

   

Question Number : 26 Question Id : 25498918424 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

______, एËलीकेशनो के िनमाµण के िलए एक सॉÌटवेयर है जो सामाÊय डेवलपर टूल को एकल Āािफकल यूजर इंटरफेस मƶ जो`ता है।

Options :

1.  International Design Engine (इंटरनेशनल िड_ाइन इंजन)

2.  Indian Development Ecosystem (इंिडयन डेवलपमƶट इकोिस×टम)

3.  Integrated Development Environment (इंटीĀेटेड डेवलपमƶट एनवायरनमƶट)

4.  Integrated Design Engine (इंटीĀेटेड िड_ाइन इंजन)

   

Question Number : 27 Question Id : 25498918596 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Public Key Cryptography or in short PKI is also known as ______ cryptography.

Options :

1.  symmetric

2.  asymmetric 

3.  international

4.  systematic

   

Question Number : 27 Question Id : 25498918596 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

पिÍलक की िþËटोĀाफी या स³ेंप मƶ PKI को ______ िþËटोĀाफी के ƞप मƶ भी जाना जाता है।

Options :

1.  समिमत (symmetric)

2.  असमिमत (asymmetric) 

3.  अंतरराȍीय (international)

4.  सुȅवि×थत (systematic)

   

Question Number : 28 Question Id : 25498921926 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The basic function of encryption is essentially to translate ______ text into ______.

Options :

1.  normal, ciphertext

2.  ciphertext, normal

3.  english, normal

4.  normal, english

   

Question Number : 28 Question Id : 25498921926 Question Type : MCQ Option Shuffling : Yes 



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

कूटलेखन (एिÊþËशन) का मूल आवÕयक कायµ ______ वाली िवषय व×तु का ______ मƶ अनुवाद करना होता है।

Options :

1.  सामाÊय, कूटिलिखत आँक`े

2.  कूटिलिखत आँक`े, सामाÊय

3.  अंĀेजी, सामाÊय

4.  सामाÊय, अĀेंजी

   

Question Number : 29 Question Id : 25498923906 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a Diagnostic Software?

Options :

1.  Windows XP

2.  Office XP

3.  Norton Antivirus

4.  Unix

   

Question Number : 29 Question Id : 25498923906 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏनिलिखत मƶ से कौन नैदािनक (डाय¹नोि×टक) सॉÌटवेयर है?

Options :

1.  Windows XP

2.  Office XP

3.  Norton एटंीवायरस



4.  Unix

   

Question Number : 30 Question Id : 25498925136 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Microsoft Excel spreadsheets, columns are labelled as ______.

Options :

1.  1, 2, 3, …

2.  A, B, C, …

3.  A1, B1, C1, …

4.  I, II, III, …

   

Question Number : 30 Question Id : 25498925136 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Microsoft Excel ×Ēेडशीट मƶ कॉलम को ______ के ƞप मƶ लेबल िकया जाता है।

Options :

1.  1, 2, 3, …

2.  A, B, C, …

3.  A1, B1, C1, …

4.  I, II, III, …

   

Question Number : 31 Question Id : 2549896401 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An absolute URL uses:

Options :



1.  complete internet address

2.  half internet address

3.  part of the internet address

4.  relative internet address

   

Question Number : 31 Question Id : 2549896401 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

एक पणूµ यूआरएल (URL) ·या उपयोग करता है?

Options :

1.  पूरा इंटरनेट एĊेस

2.  आधा इंटरनेट एĊेस

3.  इंटरनेट एĊेस का अंश

4.  संबंिधत इंटरनेट एĊेस

   

Question Number : 32 Question Id : 2549896734 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the largest professional network?

Options :

1.  McAfee

2.  LinkedIn

3.  Yatra

4.  Gmail

   

Question Number : 32 Question Id : 2549896734 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

िनÏनिलिखत मƶ से कौन-सा, सबसे ब`ा ȅावसाियक नेटवकµ  है?

Options :

1.  McAfee

2.  LinkedIn

3.  Yatra

4.  Gmail

   

Question Number : 33 Question Id : 2549897168 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following refers to the inbuilt component of a computer that stores data and 

programs?

Options :

1.  USB

2.  Primary memory

3.  Bus

4.  Printer

   

Question Number : 33 Question Id : 2549897168 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏनिलिखत मƶ से कौन-सा, एक कंËयटूर के इनिबÒट घटक को संदिभɞत करता है जो डेटा और ĒोĀाम को ×टोर करता है?

Options :

1.  युएसबी (USB)

2.  Ēाथिमक मेमरी (Primary memory)

3.  बस (Bus)

4.  िĒɞटर (Printer)



   

Question Number : 34 Question Id : 2549897416 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

By using which tab can you add objects in an MS-Word 2016 document?

Options :

1.  Edit

2.  Format

3.  Insert

4.  Home

   

Question Number : 34 Question Id : 2549897416 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िकस टैब का उपयोग करके MS-Word 2016 डॉ·यमुƶट मƶ ऑÍजे·ट्स को जो`ा जा सकता है?

Options :

1.  Edit

2.  Format

3.  Insert

4.  Home

   

Question Number : 35 Question Id : 2549897877 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is displayed in the outline pane using the outline view in MS-PowerPoint 

2016?

Options :

1.  Print preview only



2.  Slide icon, title, and slide number

3.  Slides only

4.  Help only

   

Question Number : 35 Question Id : 2549897877 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-PowerPoint 2016 मƶ आउटलाइन ȅू का उपयोग करके आउटलाइन पैन मƶ िनÏन मƶ से कौन-सा, Ēदिशɞत होता है?

Options :

1.  केवल िĒɞट Ēीȅू (Print preview only)

2.  ×लाइड आइकॉन, टाइटल, और ×लाइड नंबर  (Slide icon, title, and slide number)

3.  केवल ×लाइड्स (Slides only)

4.  केवल सहायता (Help only)

   

Question Number : 36 Question Id : 2549898125 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which statement is true in case of the Bubble chart in MS-Excel?

Options :

1.  The third value determines the size of the bubble marker.

2.  It compares values across categories.

3.  It is used to illustrate the fluctuation of stock prices.

4.  It is useful when you want to find the optimum combinations between two sets of data.

   

Question Number : 36 Question Id : 2549898125 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



MS Excel मƶ बबल चाटµ के मामले मƶ कौन-सा कथन सÆय है?

Options :

1.  तीसरा मूÒय, बबल माकµ र का आकार िनणƮत करता है।

2.  यह िविभȃ वगǄ मƶ मूÒयǂ की तुलना करता है।

3.  यह ×टॉक के मूÒयǂ मƶ अि×थरता को Ē×तुत करने के िलए Ēयुǣ होता है।

4.  यह डेटा के दो समूहǂ के बीच इȌतम संयोजन का पता लगाने हेतु उपयोगी होता है।

   

Question Number : 37 Question Id : 25498910557 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Divya customised the margins in an MS-Word 2007 document. Her most recent settings will 

appear at the ______ of the Margins menu.

Options :

1.  top

2.  bottom

3.  left

4.  right

   

Question Number : 37 Question Id : 25498910557 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िदȅा ने अपने MS-Word 2007 डॉ·यमूƶट मƶ मािजɞन क×टमाइ_ की है। उसकी सबसे नवीनतम सिेटɞग (most recent 

settings), मािजɞन मेनू के ______ पर िदखेगी।

Options :

1.  शीषµ

2.  तल

3.  बाएं

4.  दाएं



   

Question Number : 38 Question Id : 25498910602 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If you are using MS-Word, then the default unit for measuring the hanging type of indentation is 

______.

Options :

1.  inches

2.  centimetres

3.  points

4.  lines

   

Question Number : 38 Question Id : 25498910602 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

यिद आप MS-Word का Ēयोग कर रहे हƹ, तो हƹिगɞग Ēकार के इंडƶटेशन (indentation) को मापने के िलए िडbॉÒट इकाई ______ 
है।

Options :

1.  इंच

2.  सƶटीमीटर

3.  पॉइंट्स

4.  लाइÊस

   

Question Number : 39 Question Id : 25498910607 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a Word Processing Software?



Options :

1.  Word Perfect

2.  MS-Word

3.  WordPad

4.  Google sheet

   

Question Number : 39 Question Id : 25498910607 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏन मƶ से कौन-सा वडµ Ēोसेिसɞग सॉÌटवेयर नहƭ है?

Options :

1.  वडµ परफे·ट

2.  MS-वडµ

3.  वडµ पैड

4.  गूगल शीट

   

Question Number : 40 Question Id : 25498911449 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If you are using MS-Word, one can choose the AutoCorrect options for capitalisation, ______ and 

symbols.

Options :

1.  margins

2.  spelling

3.  alignment

4.  breaks

   

Question Number : 40 Question Id : 25498911449 Question Type : MCQ Option Shuffling : Yes 



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

यिद आप MS-Word का Ēयोग कर रहे हƹ, और कोई भी कैिपटलाइ_ेशन, ______, और Ēतीकǂ के िलए ऑटो कर·ेट िवकÒप चुन 
सकता है।

Options :

1.  मािजɞन

2.  वतµनी (×पेिलɞग)

3.  संरेखण (एलाइनमƶट)

4.  िवराम (Ĕे·स)

   

Question Number : 41 Question Id : 25498911826 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If you are using MS-Word and select the 'Exactly' option in the Paragraph dialog box, by default 

the line spacing will be measured in _______.

Options :

1.  points

2.  inches

3.  lines

4.  centimetres

   

Question Number : 41 Question Id : 25498911826 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

यिद आप पैराĀाफ डायलॉग बॉ·स मƶ MS-Word का उपयोग कर रहे हƹ और 'Exactly' िवकÒप िवकÒप को चुनते हƹ, तो िडbॉÒट 
ƞप से लाइन ×पिेसɞग को _______ मƶ मापा जाएगा।

Options :



1.  पॉइंट्स

2.  इंच

3.  लाइÊस

4.  सƶटीमीटर

   

Question Number : 42 Question Id : 25498911907 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following refers to the letter ‘D’ in DRAM with reference to computer memory?

Options :

1.  Driven

2.  Dynamic

3.  Data

4.  Dangling

   

Question Number : 42 Question Id : 25498911907 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

कंËयटूर मेमोरी के संदभµ मƶ, DRAM मƶ, िनÏनिलिखत मƶ से कौन-सा, अ³र ‘D’ के िलए संदिभɞत है?

Options :

1.  Ċाईवन (Driven)

2.  डायनािमक (Dynamic)

3.  डेटा (Data)

4.  डƹगिलɞग (Dangling)

   

Question Number : 43 Question Id : 25498911932 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which among the following is the default column preset in MS-Word 2019?

Options :

1.  One

2.  Two

3.  Three

4.  Four

   

Question Number : 43 Question Id : 25498911932 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 
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िनÏनिलिखत मƶ से कौन-सा, MS-Word 2019 मƶ िडbॉÒट कॉलम Ēीसेट है?

Options :

1.  एक

2.  दो

3.  तीन

4.  चार
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Which of the following shortcut keys is the shortcut key for closing an MS-Word 2019 document?

Options :

1.  CTRL + G

2.  CTRL + S

3.  CTRL + W

4.  CTRL + L
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िनÏनिलिखत मƶ से कौन सी शॉटµकट कुंजी MS-Word 2019 डॉ·यमुƶट को बंद करने की शॉटµकट कुंजी है?

Options :

1.  CTRL + G

2.  CTRL + S

3.  CTRL + W

4.  CTRL + L
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Envelopes and labels are the features in the ______ group in the Mailing tab of MS-Word 2016.

Options :

1.  Create

2.  Start mail merge

3.  Write & insert fields

4.  Finish

   

Question Number : 45 Question Id : 25498919152 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िलफाफे (एÊवलेोप) और लेबल, MS-Word 2016 के मेिलɞग टैब मƶ िकस समूह की िवशेषताए ंहƹ?

Options :

1.  बनाए ं(Create)

2.  मेल मजµ शुƞ करƶ (Start mail merge)



3.  फीÒड िलखƶ और डालƶ (Write & insert fields)

4.  समाËत करƶ (Finish)
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Upon clicking the pointed option in the below image, in the process of mail merging a letter, the 

______ dialogue box appears. 

 

Options :

1.  Modify Address Block

2.  Insert Address Block

3.  Add Address Block

4.  Change Address Block
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जब हम पč की मेल मिजɞग (merging) Ēिþया मƶ नीचे दी गई इमेज मƶ इंिगत िवकÒप पर ि·लक करते हƹ तो कौन-सा डायलाग बॉ·स 
िदखाई देगा? 

 



Options :

1.  मोिडफाई एĊेस Íलॉक (Modify Address Block)

2.  इंसटµ एĊेस Íलॉक (Insert Address Block)

3.  एड एĊेस Íलॉक (Add Address Block)

4.  चƶज एĊेस Íलॉक (Change Address Block)
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Which of the following is NOT a part of the CPU?

Options :

1.  Registers

2.  ALU

3.  Controller

4.  System bus
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िनÏन मƶ से कौन-सा, CPU का एक भाग नहƭ है?



Options :

1.  रिज×टर

2.  ALU

3.  कंĈोलर 

4.  िस×टम बस
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What is an email?

Options :

1.  A website or a part of a site that contains regularly-updated content about one or multiple 

topics.

2.  A software program that allows a user to locate, access and display web pages.

3.  Messages transmitted and received by digital computers through a network.

4.   A collection of related material that contains text, images, and may also include video, audio 

or other media.
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ई-मेल ·या होता है?

Options :

1.  एक वेबसाइट या साइट का एक िह×सा िजसमƶ एक या एक से अिधक िवषयǂ के बारे मƶ िनयिमत ƞप से अपडेट की गई सामĀी 
होती है।

2.  एक सॉÌटवेयर ĒोĀाम जो उपयोगकताµ को वेब पजेǂ का पता लगाने, ए·सेस करने और Ēदिशɞत करने की अनुमित देता है।

3.  एक नेटवकµ  के माÉयम से िडिजटल कंËयटूर Ǽारा Ēेिषत और ĒाËत संदेश।

4.  संबंिधत सामĀी का एक संĀह िजसमƶ टे·×ट, इमेज शािमल हƹ, और इसमƶ वीिडयो, ऑिडयो या अÊय मीिडया भी शािमल हो सकते 



हƹ।
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With reference to the data source in pivot tables, a ______ will automatically expand and shrink the 

table as the user adds or removes data.

Options :

1.  static range

2.  functional range

3.  middle range

4.  dynamic range
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िपवट टेबल मƶ डेटा Ğोत के संदभµ मƶ, एक ______ ×वचािलत ƞप से टेबल को िव×तृत और सिं³Ëत कर देगा जब उपयोगकताµ डेटा 
जो`ता है या हटाता है।

Options :

1.  ×टेिटक रƶज (static range)

2.  कायाµÆमक रƶज (functional range)

3.  मÉयम रƶज (middle range)

4.  डायनािमक रƶज (dynamic range)
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The difference between superscript and subscript is that they are:

Options :

1.  written on the normal line of type.

2.  different in their styles.

3.  different in their positions and usages.

4.  different in their font sizes.
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सुपरि×þËट और सबि×þËट के बीच का अंतर यह है िक:

Options :

1.  वे सामाÊय Ēकार की रेखा पर िलखे गए होते हƹ।

2.  उनकी शैली मƶ अंतर है।

3.  उनकी ि×थितयǂ और उपयोग मƶ अंतर है।

4.  उनके bॉÊट आकार मƶ अंतर है।
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With reference to benefits of video conference, which of the following statements is/are true? 

 

(i) It enables the digital workforce. 

(ii) It simplifies management and usability.

Options :

1.  Both (i) and (ii)

2.  Nether (i) nor (ii)

3.  Only (ii)



4.  Only (i)
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वीिडयो कॉÊēƶ स के लाभǂ के संदभµ मƶ, िनÏनिलिखत मƶ से कौन सा/से कथन सÆय है/हƹ? 

 

(i) यह िडिजटल कायµबल को एनेबल करता (स³म बनाता) है। 
(ii) यह Ēबंधन और उपयोिगता (usability) को सरल करता है।

Options :

1.  (i) और (ii) दोनǂ

2.  न तो (i) न ही (ii)

3.  केवल (ii)

4.  केवल (i)
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When the media file that is streamed to the client is only played without downloading by the client, 

it is called ______.

Options :

1.  progressive download

2.  real time streaming

3.  regular download

4.  virtual time streaming
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जब ·लाइंट को ×Ĉीम की गई मीिडया bाइल केवल ·लाइंट Ǽारा डाउनलोड िकए िबना ही चलाई जाती है, तो इसे ______ कहा जाता है।

Options :

1.  ĒोĀेिसव डाउनलोड

2.  िरयल टाइम ×Ĉीिमɞग

3.  रेगुलर डाउनलोड

4.  वचुµअल टाइम ×Ĉीिमɞग
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Question Numbers : (53 to 57)



Read the given passage and answer the questions. 

 

The Best Vegetable of All 

 

One evening, as Emperor Akbar and his courtiers strolled along a terrace, the emperor remarked, 

“Brinjals (baigan in Hindi) are the finest vegetables, without a doubt.’’ All his courtiers were quick 

to agree. "Oh," said one, "Brinjal is said to be excellent for one’s health.” Another commented, 

"and the taste! Brinjal cooked with meat is delicious." 

 

Birbal, who was known to be moderate in his remarks, began to praise the brinjal excessively. This 

surprised everyone. “What delicacy! What fine colour!” he cried. “Oh, brinjal is the emperor of 

vegetables to be sure. It is a gift from heaven!” And he went on and on, even reciting a small poem 

in praise of the brinjal. This was a bit too much, even for Emperor Akbar, who was used to flattery. 

He was certain that Birbal was teasing him and making fun of all the courtiers who surrounded 

him. So, a few days later, the emperor declared, “There can be no better vegetable in the world 

than spinach (palak in Hindi)!” 

 

At once, all those around him began to praise spinach. “It is so good for the digestion,” said a very 

fat man. “And full of goodness,” said his extremely thin friend. “And it is excellent with meat”, 

added another man. “Never has there been a tastier vegetable,” Birbal’s voice rose over all the 

rest. “What delicacy! What fine colour! Oh, spinach is the emperor of all vegetables. It is a gift of 

the heavens!” 

 

“Birbal!” Emperor Akbar cried in an angry voice. “Only last week you were praising the brinjal in 

exactly the same words”. Birbal’s eyes twinkled. “Jahanpanah,” he said, bowing very low. “My 

loyalty and faith are given only to you, my Shahanshah, from whom all kindness flows. What do I 

care for brinjal and spinach if I may be near you?” 

 

Akbar looked around at all his courtiers, who were too nervous of him to ever question anything 

he said. He understood that Birbal was mocking their behaviour, as he proved his own loyalty in 

his own way. He smiled appreciatively. “Wah, Wah! Birbal”, he said. "You never fail to teach us 

something even when you make us laugh!"

Sub questions
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Who started the conversation about vegetables on the terrace?

Options :

1.  Akbar

2.  Birbal

3.  A cook

4.  The courtiers
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Why was Akbar surprised to hear Birbal reciting a poem in praise of a vegetable?

Options :

1.  Birbal immediately agreed with whatever the emperor said.

2.  Birbal never praised anything for such a long time.

3.  Akbar knew that Birbal was not flattering him like other courtiers.

4.  Brinjal is not such a rare vegetable that everyone loves it.
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What did Akbar guess from Birbal's unusual behaviour?

Options :

1.  Akbar knew that Birbal liked to make fun of the people in the court. 

2.  Akbar knew that Birbal had some other motive to agree with him and his courtiers. 

3.  Birbal wanted to tell the king and the courtiers that he was fond of both the vegetables.



4.  The courtiers were mocking Birbal by praising the ruler and agreeing with whatever he said.
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Why did Akbar repeat the topic of the best vegetable within a few days?

Options :

1.  To test the behaviour of his courtiers.

2.  To find out more about Birbal's real intention.

3.  To find out the number of poems Birbal knew about vegetables.

4.  To catch Birbal and other courtiers by surprise.
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What did Birbal prove about himself by behaving like other courtiers?

Options :

1.  Constant flattery pleases no one but a fool.

2.  The courtiers were so afraid of the emperor that they always agreed with him.

3.  One's loyalty to the ruler is not disproved by one's truthfulness.

4.  Flattery for one's own gain cannot win the hearts of others.
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Question Numbers : (53 to 57)

िदए गए गȁांश को पaƶ  और उसके आधार पर Ēȋǂ के उǶर दƶ। 
 

सवµĜȎे सÍजी 



 

एक शाम, जब सĖाट अकबर और उनके दरबारी छत पर घूम रहे थे, सĖाट ने िटËपणी की, "िबना िकसी संदेह के, बƹगन बेहतरीन सÍजी 
हƹ।" उनके सभी दरबािरयǂ ने तुरंत सहमित ȅǣ की। "हाँ," एक ने कहा, "बƹगन को ×वा×Çय के िलए उÆकृȌ माना जाता है।" एक और 
ने िटËपणी की, "और ×वाद! मांस के साथ पकाया बƹगन ×वािदȌ होता है।" 

 

बीरबल, जो अपनी िटËपणी देने मƶ संयिमत जाने जाते थे, बƹगन की अÆयिधक Ēशंसा करना शƞु कर दी। इसने सबको हैरान कर िदया। 
"·या ×वािदȌता! ·या अ¼छा रंग!" बीरबल ने कहा। "ओह, बƹगन सिÍजयǂ का सĖाट सुिनिȆत ही है। यह ×वगµ का एक उपहार है!" 
और बƹगन की Ēशंसा मƶ एक छोटी किवता भी पa दी। यह सĖाट अकबर के िलए भी थो`ा ¾यादा ही था, जो चापलूसी के अÎय×त थे। 
यह िनिȆत था िक बीरबल उसे िचaा रहा था और उसके चारǂ तरफ रहने वाले सभी दरबािरयǂ का मजाक उ`ा रहा था। तो, कुछ िदनǂ 
बाद, सĖाट ने घोिषत िकया, "पालक से बेहतर Ɵिनया मƶ कोई सÍजी नहƭ हो सकती है!" 

 

तुरंत, उसके आस-पास के सभी लोगǂ ने पालक की Ēशंसा करना शƞु कर िदया। एक बƓत मोटे आदमी ने कहा, "यह पाचन के िलए 
बƓत अ¼छा है।" "और अ¼छाई से भरपूर है," उसके बेहद पतले दो×त ने कहा। "और यह मांस के साथ उÆकृȌ है", एक और आदमी ने 
जो`ा। "इससे ×वािदȌ सÍजी कभी भी नहƭ रही है," बीरबल की आवा_ बाकी सब पर भारी थी। "·या ×वािदȌता! ·या अ¼छा रंग है! 
ओह, पालक सभी सिÍजयǂ का सĖाट है। यह ×वगµ का उपहार है! " 

 

"बीरबल!" सĖाट अकबर ने गु×से से कहा। "केवल िपछले हÌते तुम इÊहƭ शÍदǂ मƶ बƹगन की Ēशंसा कर रहे थे।" बीरबल की आंखƶ 
चमक गǍ। उÊहǂने झुकते Ɠए कहा, "जहांपनाह," "मेरी वफादारी और िवȈास केवल आपके िलए है, मेरे शहंशाह, िजनसे दयालुता 
बहती है। अगर मƹ आपका Ɣँ हो तो मƹ बƹगन और पालक का ·यǂ ¸याल रखंू?" 

 

अकबर ने अपने सभी दरबािरयǂ को देखा, जो उनके बारे मƶ कभी भी सवाल करने के कारण बƓत परेशान थे। वह समझ गया िक बीरबल 
उनके ȅवहार का म_ाक उ`ा रहा था, ·यǂिक उसने अपनी ही वफादारी को अपने तरीके से सािबत कर िदया था। वह सराहना के साथ 
मु×कुराया। "वाह वाह! बीरबल", "जब तुम हमƶ हंसाते हो तब भी तुम हमƶ कुछ ना कुछ िसखाते ही Ɣँ!"

Sub questions
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छत पर सिÍजयǂ के बारे मƶ बातचीत िकसने शƞु की?

Options :

1.  अकबर

2.  बीरबल



3.  एक बावचƮ

4.  दरबारी
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: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

अकबर, बीरबल Ǽारा िकसी सÍजी की Ēशंसा मƶ किवता सुनकर ·यǂ आȆयµचिकत था?

Options :

1.  सĖाट ने जो भी कहा, बीरबल तुरंत सहमत हो गया।

2.  बीरबल ने काफी लंबे समय से, कभी भी िकसी भी व×तु की Ēशंसा नहƭ की थी।

3.  अकबर जानता था िक बीरबल अÊय दरबािरयǂ की तरह उसकी चापलूसी नहƭ कर रहा था।

4.  बƹगन इतनी Ɵलµभ सÍजी नहƭ है िक हर कोई इसे Ëयार करता है।

 

Question Number : 55 Question Id : 25498920902 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

अकबर ने बीरबल के असामाÊय ȅवहार से ·या अनुमान लगाया?

Options :

1.  अकबर जानता था िक बीरबल को दरबार मƶ लोगǂ का मजाक उ`ाना पसंद है।

2.  अकबर जानता था िक बीरबल का उससे और उसके दरबािरयǂ से सहमत होने का कोई और मकसद था।

3.  बीरबल राजा और दरबािरयǂ को बताना चाहता था िक वह दोनǂ सिÍजयǂ का शौकीन है।

4.  दरबािरयǂ ने शासक की Ēशंसा करके और जो कुछ भी उसने कहा उससे सहमत होकर बीरबल का म_ाक उ`ा रहे थे।

 

Question Number : 56 Question Id : 25498920903 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

अकबर ने कुछ िदनǂ के भीतर सबसे अ¼छी सÍजी का िवषय ·यǂ दोहराया?



Options :

1.  अपने दरबािरयǂ के ȅवहार का परी³ण करने के िलए।

2.  बीरबल के असली इरादे के बारे मƶ और जानने के िलए।

3.  उन किवताǓ की सं¸या जानने के िलए जो बीरबल सिÍजयǂ के बारे मƶ जानता था।

4.  बीरबल और अÊय दरबािरयǂ को आȆयµचिकत करने के िलए।

 

Question Number : 57 Question Id : 25498920904 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

बीरबल ने अÊय दरबािरयǂ की तरह ȅवहार करके खुद के बारे मƶ ·या सािबत िकया?

Options :

1.  िनरंतर चापलूसी िकसी को खुश नहƭ करती बिÒक मूखµ बनाती है।

2.  सभी दरबारी सĖाट से इतना डरते थे िक वे हमेशा उनकी बात से सहमत रहते थे।

3.  शासक के Ēित िकसी की वफादारी उसकी स¼चाई से अĒमािणत नहƭ होती है।

4.  अपने लाभ के िलए चापलूसी करके Ơसरǂ के िदल नहƭ जीत सकते हƹ।

   

   

QUANTITATIVE APTITUDE
Section Id : 2549896374

Section Number : 3

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and 

Clear Response :
Yes

Maximum Instruction Time : 0



Sub-Section Number : 1

Sub-Section Id : 2549896415

Question Shuffling Allowed : Yes

   

Question Number : 58 Question Id : 25498914233 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The value of which of the following fractions is less than twenty percent?

Options :

1.   

 

2.   

 

3.   

 

4.   

 

   

Question Number : 58 Question Id : 25498914233 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏनिलिखत मƶ से िकस अपूणाǋक का मान बीस Ēितशत से कम है?

Options :

1.   

 

2.  



 

 

3.   

 

4.   

 

   

Question Number : 59 Question Id : 25498914262 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.   

 

2.   

 

3.   

 

4.   

 

   

Question Number : 59 Question Id : 25498914262 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Options :

1.   

 

2.   

 

3.   

 

4.   

 

   

Question Number : 60 Question Id : 25498928789 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.   

 

2.   

 

3.   

 

4.   



 

   

Question Number : 60 Question Id : 25498928789 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.   

 

2.   

 

3.   

 

4.   

 

   

Question Number : 61 Question Id : 25498928933 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What value should come in place of the question mark (?) in the following expression? 

 

302.46 + 395.72 − 123.47 = ?

Options :



1.  576.77

2.  547.17

3.  547.77

4.  574.71

   

Question Number : 61 Question Id : 25498928933 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏनिलिखत ȅंजक मƶ Ēȋ िचȑ (?) के ×थान पर ·या मान आएगा? 

 

302.46 + 395.72 − 123.47 = ?

Options :

1.  576.77

2.  547.17

3.  547.77

4.  574.71

   

Question Number : 62 Question Id : 25498929064 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

At present, the ratio between the ages of A and B is 3 : 8 and between A and C is 1 : 4. Three years 

ago, the sum of the ages of A, B and C was 83 years. What is the present age (in years) of C?

Options :

1.   

 

2.   

 

3.   

 



4.   

 

   

Question Number : 62 Question Id : 25498929064 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.   

 

2.   

 

3.   

 

4.   

 

   

Question Number : 63 Question Id : 25498929435 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.   

 

2.   

 

3.   

 



4.   

 

   

Question Number : 63 Question Id : 25498929435 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.   

 

2.   

 

3.   

 

4.   

 

   

   

GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549896375

Section Number : 4

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Yes



Clear Response :

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 2549896416

Question Shuffling Allowed : Yes

   

Question Number : 64 Question Id : 25498910045 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following words will come third if all of them are arranged alphabetically as in a 

dictionary?

Options :

1.  Research

2.  Rational

3.  Round

4.  Rustic

   

Question Number : 64 Question Id : 25498910045 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

चार शÍद िदये गये हƹ। यिद सभी शÍदǂ को एक शÍदकोश के अनुसार वणाµनुþम मƶ ȅवि×थत िकया जाता है, तो तीसरे ×थान पर कौन सा 
शÍद आयेगा?

Options :

1.  Research

2.  Rational

3.  Round

4.  Rustic

   

Question Number : 65 Question Id : 25498910140 Question Type : MCQ Option Shuffling : Yes 



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third term in the same way as the second term is related to 

the first term. 

 

Legend : Story : : Mystery : ?

Options :

1.  Enigma

2.  Clarity

3.  Crystal

4.  Novel

   

Question Number : 65 Question Id : 25498910140 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

उस िवकÒप का चयन करƶ जो तीसरे पद के साथ ठीक उसी तरह संबंिधत है िजस Ēकार से Ơसरा पद पहले पद से संबंिधत है। 
 

लेजƶड : कहानी (×टोरी) : : रह×य (िम×Ĉी) : ?

Options :

1.  पहेली (एिन¹मा)

2.  ×पȌता (·लैिरटी)

3.  िþ×टल

4.  उपÊयास (नॉवेल)

   

Question Number : 66 Question Id : 25498912843 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Instruction: Study the following series of alpha-numeric-symbol combination and answer the 



question that follows. 

 

S K 6 £ Q 2 R * C F 8 E $ G 2 # 4 9 L N 3 U V 5 Y α B 7 W 9 

 

Question: Three of the following four are alike in respect of their positions in the above series. 

Which is the one that does NOT belong to that group?

Options :

1.  Q * 8

2.  £ R F

3.  6 2 C

4.  2 * 8

   

Question Number : 66 Question Id : 25498912843 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

अनुदेश: िनÏनिलिखत वणµ-सं̧ या-Ēतीक संयोजन की Ĝृंखला का अÉययन करƶ और उसके बाद िदये गये Ēȋ का उǶर दƶ: 
 

S K 6 £ Q 2 R * C F 8 E $ G 2 # 4 9 L N 3 U V 5 Y α B 7 W 9 

 

सवाल: चार मƶ से तीन िवकÒप उनकी दी गई Ĝृंखला मƶ ि×थित के आधार पर एक समान हƹ जब की एक िवकÒप अलग है (िवषम िवकÒप 
को पहचाने)।

Options :

1.  Q * 8

2.  £ R F

3.  6 2 C

4.  2 * 8

   

Question Number : 67 Question Id : 25498919667 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Choose the letter or group of letter which is different from others.

Options :

1.  N

2.  Q

3.  T

4.  Z

   

Question Number : 67 Question Id : 25498919667 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

वह अ³र या अ³र समूह चनुƶ जो Ơसरǂ से अलग हो।

Options :

1.  N

2.  Q

3.  T

4.  Z

   

Question Number : 68 Question Id : 25498919886 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In each of the following, four words have been given, out of which three are alike in some manner, 

while the fourth one is different. Choose out the ODD one.

Options :

1.  Ode

2.  Lyric

3.  Sonnet

4.  Epic



   

Question Number : 68 Question Id : 25498919886 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

नीचे िवकÒपǂ मƶ चार शÍद िदए गए हƹ िजनमƶ से तीन िकसी Ēकार से एक जैसे हƹ, जबिक एक इनसे िभȃ है। उस िभȃ शÍद की पहचान 
करƶ।

Options :

1.  अकिवता (Ode)

2.  गेय छंद (Lyric)

3.  दोहा (Sonnet)

4.  महाकाȅ (Epic)

   

Question Number : 69 Question Id : 25498920309 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and the fourth one is 

different. Choose out the odd one.

Options :

1.  Cricket

2.  Football

3.  Hockey

4.  Chess

   

Question Number : 69 Question Id : 25498920309 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

चार शÍद िदए गए हƹ, िजनमƶ से तीन शÍद िकसी ƞप मƶ एक समान हƹ जबिक चौथा शÍद िविभȃ है। असमान शÍद का चयन करƶ।

Options :



1.   िþकेट (Cricket)

2.  फुटबॉल (Football)

3.  हॉकी (Hockey)

4.  चैस (Chess)

   

   

GENERAL AWARENESS
Section Id : 2549896376

Section Number : 5

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and 

Clear Response :
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Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 2549896417

Question Shuffling Allowed : Yes

   

Question Number : 70 Question Id : 2549895239 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Specially developed economic zones in India where some of the economic laws and restrictions of 

the land are relaxed with the purpose of giving incentives to investors, are commonly known as:

Options :

1.  Special Economic Zone



2.  Preferential Zones

3.  Industrial Parks

4.  Economic corridors

   

Question Number : 70 Question Id : 2549895239 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

भारत मƶ िवशेष ƞप से िवकिसत आिथɞक ³ेč जहाँ िनवेशकǂ को ĒोÆसाहन देने के उǿेÕय से देश के कुछ आिथɞक िनयमǂ और Ēितबंधǂ 
को aील दी जाती है, इÊहƶ सामाÊयतः िकस नाम से जाना जाता है?

Options :

1.  िवशेष आिथɞक ³ेč

2.  अिधमाÊय ³ेč

3.  औȁोिगक पाकµ

4.  आिथɞक कॉिरडोर

   

Question Number : 71 Question Id : 2549895337 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.  A – 1, B – 2, C – 3, D – 4

2.  A – 1 , B – 3, C – 2, D – 4

3.  A – 4, B – 3, C – 2, D – 1

4.  A – 4, B – 2, C – 3, D – 1



   

Question Number : 71 Question Id : 2549895337 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.  A – 1, B – 2, C – 3, D – 4

2.  A – 1 , B – 3, C – 2, D – 4

3.  A – 4, B – 3, C – 2, D – 1

4.  A – 4, B – 2, C – 3, D – 1

   

Question Number : 72 Question Id : 2549895515 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a living cell, what is the site of ribosome formation?

Options :

1.  Golgi bodies

2.  Endoplasmic reticulum

3.  Plasma membrane

4.  Nucleolus

   

Question Number : 72 Question Id : 2549895515 Question Type : MCQ Option Shuffling : Yes 



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

जीिवत कोिशका मƶ राइबोसोम का िनमाµण कहाँ होता है?

Options :

1.  गोÒगी िनकाय

2.  अÊतः Ēदȅयी जिलका

3.  Ëला¾मा िझÒली

4.  Êयिू·लयस

   

Question Number : 73 Question Id : 25498929756 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The protein deficiency among children in the age group of 1 to 3 years usually causes:

Options :

1.  Anemia

2.  Goiter

3.  Kwashiorkor

4.  Xerophthalmia

   

Question Number : 73 Question Id : 25498929756 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 से 3 वषµ की आयु के ब¼चǂ मƶ Ēोटीन की कमी, आमतौर पर िकस रोग के ƞप मƶ पिरलि³त होती है?

Options :

1.  रǣाÒपता

2.  गोईटर

3.  ·वािशओरकोर



4.  जीरोÌथेलिेमया

   

Question Number : 74 Question Id : 25498930079 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When is International Day for Elimination of Racial Discrimination, recognised by the UN 

observed?

Options :

1.  December 11

2.  November 29

3.  March 21

4.  June 17

   

Question Number : 74 Question Id : 25498930079 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

संयुǣ राȍ Ǽारा माÊयता ĒाËत न×लीय भेदभाव के उÊमूलन के िलए अंतरराȍीय िदवस कब मनाया जाता है?

Options :

1.  11 िदसंबर को

2.  29 नवंबर को

3.  21 माचµ को

4.  17 जून को

   

Question Number : 75 Question Id : 25498932088 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following famous dancers is NOT an exponent of the Odissi dance style?



Options :

1.  Sonal Man Singh

2.  Sanjukta Panigrahi

3.  Yamini Krishnamurthy

4.  Madhavi Mudgal

   

Question Number : 75 Question Id : 25498932088 Question Type : MCQ Option Shuffling : Yes 
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िनÏनिलिखत मƶ से कौन से Ēिसǽ नतµक ओिडसी नृÆय शैली के Ēितपादक नहƭ है?

Options :

1.  सोनल मान िसɞह

2.  संजुǣा पािणĀही

3.  यािमनी कृÖणमूितɞ

4.  माधवी मुǹल
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Summer camps are supervised camps conducted to entertain as well as equip students with 

various life skills such as teamwork, socializing, decision making, independent and 

responsible living and more. It aids the overall development of a child and children have fun 

during this process as they get to explore new arenas.
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Tourism is one of the fastest growing industries in the world. It plays a vital role in the 

economic development of a country. India is one of the popular tourist destinations in Asia. 

The Indian continent is bounded by the Himalayan ranges in the north and surrounded on 

three sides by water. India offers a wide array of places to see and things to do. The 

enchanting backwaters and landscapes make India a beautiful country. They attract 

tourists from all over the world. Tourism is the second largest foreign exchange earner in 

India. The tourism industry employs a large number of people both skilled and unskilled. 

Tourism is the largest service industry in India. It largely contributes to the national GDP. 

And it also contributes to the total employment in India. Hotels and travel agencies benefit 

a lot from this industry. Tourism promotes national integration and international 

understanding. India has a composite culture. There is a harmonious blend of art and 

religion. Though India has been subjected to a series of invasions it has retained her 

originality even after absorbing the best of the external influences. A wide array of exquisite 

religions resides in India. India has fascinated people from all over the world with its rich 

culture. The diverse geographical locales of India delight the tourists. The grand 

monuments such as museums and places of religious interest etcetera offer a treat to the 

eyes. Every region is identified with its handicrafts along with its folk dances and music. The 

Taj Mahal in Agra attracts a lot of tourists. Likewise hundreds of tourist destinations are 

spread over the vast Indian plateau. India has a large variety of Flora and Fauna. Besides the 

equator divides the geographical land of India into almost two equal halves that make India 

a country where six seasons occurs. Moreover in almost every city of India there is a 

historical monument made by the rulers in their specific time period. The Tourism Advisory 

Board recommends measures for the promotion of tourist traffic in India. It reviews the 

tourist trends and suggests appropriate measures. Some of the havelis have been converted 



into heritage hotels. In these hotels the tourists get to experience the exotic lifestyle of a 

bygone era. The exotic Train Palace on Wheels which travels through Rajasthan attracts a 

lot of foreign tourists. The Indian Tourism Development Corporation organizes 

entertainment programs like folk dances and songs and provides shopping facilities. Today 

many private companies like Sita Travels and Club Mahindra etcetera arrange domestic as 

well as foreign tours. With the growth of the urban professional tourism in India is 

flourishing day by day. Many states have taken necessary steps to promote tourism. Goa 

promotes water sports like scuba diving and rafting. Kashmir offers the pleasure of winter 

sports like skiing and mountaineering. The Indian Tourism Development Corporation 

started a campaign called Incredible India to encourage tourism in India. The slogan of this 

campaign is Athithi Devo Bhawa. For better growth the department divided different places 

into different sections like spiritual tourism and adventure tourism. India has a growing 

medical tourism sector. With an increasing number of foreign patients flocking to India for 

treatment our country has become an attractive destination for medical tourism. Things 

have now started looking bright for the tourism industry.
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एक बार की बात है, अकबर और बीरबल िशकार पर जा रहे थे। अभी कुछ समय की उÊहƶ एक िहरण िदखा। जÒदबाजी मƶ तीर िनकालते 
Ɠए अकबर अपने हाथ पर घाव लगा बैठा। अब हालात कुछ ऐसे थे की अकबर बƓत ददµ मƶ था और गु×से मƶ भी।
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नदी तल की सतह ढालू होती है। उसका ढाल Ēवाह की िदशा मƶ होता है। उसकी सतह पर कैचमƶट से बहाकर लाये कण कुदरती ढंग से 
जमा होते हƹ। इन कणǂ का जमाव बेहद अनुशािसत और रैिखक ƞप मƶ होता है। इन कणǂ के नीचे की सतह चटटानी व पाषाणǂ या बालू 
मृदा की होती है। नदी का तल हमेशा नदी की भौितक सीमाǓ के अंदर रहता है। उसका िनमाµण और पिरमाजµन बहता पानी ही करता 
है। यह लगातार चलने वाली Ēिþया है। नदी मƶ तल के उपर से पानी बहता है। यिद वाटर लेवल नदी के तल के नीचे उतर जाये तो तल 
पानी सोखने लगता है और नदी का Ēवाह कम होने लगता है। इससे नदी पर सूखने का खतरा मंडराने लगता है। सूखे िदनǂ मƶ पानी 
आमतौर पर नदी तल के आंिशक भाग से ही बहता है। बरसात मƶ जब रन आफ की माčा बढ जाती है तो सबसे पहले नदी तल की रेत 
पानी सोखती है। जब नदी मƶ पानी अिधक बढ जाता है तो उसके बाद पानी नदी तल के पूरे भाग से या उसकी सीमाǓ को लाघ कर 
बहता है। आम आदमी के िलये नदी तट का अथµ नदी तल की दािहनी और बायी सीमा है। वे आमतौर पर ढालू होते हƹ। उनका ढाल 
असमान होता है। उनकी सतह उबड खाबड होती है। वे नदी के तल की सीमा को िनधाµिरत करते हƹ। नदी की बाढ हर साल मृदा काट कर 
उनको पिरमािजɞत करती है। पिरमाजµन के कारण उनका फैलाव होता चला जाता है। उनके बीच की Ơरी बढती है। उनके बीच की Ơरी 
बढने के कारण नदी की चौडाई बढती है। सूखे िदनǂ मƶ नदी का पानी िकसी एक िकनारे के पास से अथवा उससे अलग अलग Ơरी से 
बहता है। लेिकन ऐसा हमेशा नहƭ होता है। साल दर साल उसमƶ बदलाव संभव है। मामूली बाढ के समय पानी उनकी सीमाǓ मƶ रहता है 
पर जब बाढ रौď ƞप धारण कर लेती है तो वह दोनǂ तटǂ को लाघ कर कछार मƶ फैल जाती है। नदी के तटǂ को दाया तट और बाया तट 
के नाम से भी संबोिधत िकया जाता है। इनको यह पहचान Ēवाह के दािहनी ओर या बायी ओर होने के कारण िमलती है। मैदानी इलाकǂ 
मƶ एक तट के िनकट रेत और Ơसरे तट के िनकट घाट िमलता है। बरसात के मौसम मƶ निदयǂ मƶ अनेक बार बाढ आ जाती है। कई बार 
वह नदी के दोनǂ तटǂ को लाघ कर कछार मƶ भी फैलती है पर बाढǂ के दौरान कछार मƶ पानी का फैलाव एक जैसा नहƭ होता। वह हमेशा 
बदलता रहता है। जल वै´ािनकǂ ने बाढ ³ेč को पिरभािषत िकया है। उनके अनुसार बाढ ³ेč नदी कछार का वह इलाका है जो 
अिधकतम बाढ के दौरान डूबता है। यही वह ³ेč है जो पानी मƶ कभी कभी डूबता है। िजसमƶ तबाही मचती है। जन धन की हािन होती है 
लेिकन बाढ हमेशा हािनकारक नहƭ होती। वह कछार मƶ उपजाउ मृदा और पोषक पदाथµ भी जमा करती है। यह कछार को समतल बनाने 
की िदशा मƶ काम करती है। बाढ नदी मागµ के जल Ēपातǂ का अंत करती है। देखा गया है िक बाढ ³ेč मƶ कई बार निदया अपना मागµ 
बदल लेती हƹ। बाढ ³ेč को पहचानना बƓत सरल है। उदाहरण के िलये बाढ ³ेč मƶ नमी की अिधकता के कारण अिधकतर हरी घास 
देखी जाती है।
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